LA EEE L L ALY ES-Fo T B E R PN e
' AFEEE 0000 cht 2 as5%)
REERAT @ FRAB_MELSE £2F E1H

Lo &#843100 4 B8R E - .
ERFRL BNBRELEAES BRI RAR (A1) -
3. FRAMLTELRHUA— Sl -

T RERAFFHE WERAFTRRA-RLOAER—BERE » BRER
CBERE 12 2ARANME  BFEREE 50 0 L RRA XA BER 10
B8 B ASFARK 1096 ZARFPONERRS - KEDE FHE - B E
REANER 1096 - WIHMBER 1596 0 BRI A2 B4AE5 1.2 100

B EREERLES D ? (1254)

— ~ Mary has received a job offer from a large investment bank as an assistant to the vice
president. Her base salary will be $35,000. She will receive her first annual salary
payment one year from the day she begins to work. In addition, she will get an immediate
$10,000 bonus for joining the company. Her salary will grow at 4% each year. Each year
she will receive a bonus equal to 10% of her salary. Mary is expected to work for 10 years.
What is the present value of the offer if the appropriate discount rate is 12%? (12.5 43

= ~ The sales and net income of YY company in year 2001 are 50 millions and 5 millions
respectively. Its dividend is $3 per share and the optimal capital structure is 40% with
debt. The DOL and DFL are 2 and 5 respectively. The number of 6utstanding share is
keeping at 1 million shares. YY company estimates the sales in year 2002 to be 55
millions and decides to invest 8 millions to build a new plant. How much the dividend per
share for year 2002 will be under each of the following situations? (12.5 )

(1) YY company applies constant dividend policy.

(2) YY company applies constant dividend payout ratio policy.
(3) YY company applies residual dividend policy.

(4) How much the estimated EPS for year 2002 will be‘?

¥ @ % A




B 3 296 0 AT 2 06 4 4 ST R AT LI A A B

pEpeRAEs  FRME_METHE K2R H2R

PY - Given the following information, what is the initial cash outflow? (12.5 ﬁ_})

Purchase price of the new machine $8,000!
Shipping and Installation charge $2,000
Sale price of old machine | $6,000
Book value of old machine $2,000
Inventory increases if installed $3,000
Accounts payable increase if installed $1,000
Tax rate on Capital Gains 25%;
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J\ ~ Consider an eight-month forward contract on a stock with a price of $98/share. The
delivery date is eight months hence. The firm is expected to pay a $1.80 per share
dividend in four months. Riskless zero-coupon interest rates for different maturities are for
less than/equal to 4% for six months, and for eight months, 4.5%. Calculate the theoretical
forward price (to the nearest cent, using discrete compound). (12.5 43+)
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